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1. fafas B12 smr ak ww ____# Algg &
giaT §.

(A)  gIY 3cUal

(B) HET IcUTEl

(C) FFHe Jcumal

(D) aa'\ccri%ranum?rmma’f

2. R gasy A vuvar Fafeaa #&
#ﬁmaﬂrﬁgéaﬁ?

(A) 1229
(B) 1336
(C) 1456
(D) 1412

3. @FT # @ ST a”a §F 981 ANHqTT F7

A)  feeha &t s
(B) =T geg OY

(C) 39T T ERIC
(D) W FAR FAge

4., 99 AR TIC FT HGHT gam g, ar
SR fFaTa W FA1 9T 95ar § ?
(A) fT AT PR @ @I §
(B) ot HAegaw & arar §
() frda #eal # 3aR - ¥erT gar §
(D) foraTa wEar @ Sirar §

5. 99 $sd T AR 3T 41, A 39 AT
el Woddad &1 aTHE il 4T ?

(A) HEFAS e JaTaw

(B) 3Tl T@erSi

(C) TR WY

(D) RIS e Jerersh

6. AT & @ &l & gcear &1 @#Awr
fAfsraa ufsear
(lithification Process) &@RT §laT § ?
(A)  wrafA® aceEt &
(B) 3ITA+T T &I
(C) 3NJHEEY AT HT
(D) FEEART TCeTAT HT

7. 3131 fA3% ( Down Synodrome )___ &
difts Fiearr AR aiRe wEeeT e

# &8 3k Reaierar &1 o1 S ar ¥ |
(A)  TSEmrstfae der
(B)  HTeIaifdr QT
() fawrorstfara Jer
(D) adelferd T
8. Fferaw weke MeEse 1 AT A
FATE ?
(A) TATEER IATE IRA
(B) faferer @lsr
(c) R
(D) feesie BN
9. ¥RA o 5T ¥ ISCHSA Wl T A=Y
#?
(A) 2014
(B) 2018
(C) 2006
(D) 2010

10. Seadl 2021 d% HRA J Fet A e
e Jeh SHd § 2

(A) 5
(B) 4
(C) 3
(D) 2

11. #1gT Igeld IFIRVT 5y T & ua

g2
(A)  fER
(B) ISR
(C) eTeHh
(D) 9TTH ST

12. g #1 o g9 391 9da Fia g A
R 3 aAurer Fr HAHT F FNar g ?

(A) &2

(B) o fIF
(C) &9 gdd
(D)  heTordT

13. wIad 2020 # EET @G Bod HaseT
frewr Agicwa # waAss HffAar F R



¥ R gEaTiea e I |

(A) AR RE
(B) 3mfAT @
(C) TR FI
(D) =faw MW
14, fRa ad __ 1 vF werme A9 ¢ |
(A) =T
(B) HERT
(C) =«e
(D) wEYH
15. @A #, F1& g (kati bihu) 7 A
__ & Yg/diat & A 9 AT AT SATAT
e
(A)  eT
(B) SaIq
() =\
(D) derEr

16. @\ & & 9 & F 9Ra § ApwEaw
FuRSAsi 3R A, tH.uA.$ (MSME)

aA F AT & & AT A SF
e & a1y $40 AT HoT W
gEder fFT § 2

(A)  IMF

() ADB

() feg d=

(D) AlB

17. s & & #la @1 #7F F 9y A
3T gife & v Savert a8 § 2

(A) el
(B) &I SJUTET
(C) #ar aniawor

(D) mwmﬁﬁwm

18. gIuwr e faeer & & o Uow 7 Rua

(A) RUET

(B) 3eRI@s

(C) 3TTOTTIS eer
(D) feHTES g

19. 3EHA TST & U 99T & fFaa R

A & ?

(A) 15
(B) 9
(C) 18
(D) 7

200 AT A A FT T FAUT O T ?
(A) 1774 ¥ WX R_fowsw =T &
vfafes T fr TATIAT Hr oY |

(B) 1793 A FIAIad IS (FEIAaH
|fgar ) ey fear = ar

(C) 1776 & ¥« ¥ 30 & AT ggell A
qaT Aw & A |

(D) 1775 ¥ ot & Jguw H Rrer 3¢
aleT Y g T v |

21. welw Oy, AT gTer &1 & fAweT @Y
fFa O & Hagy 97

(A)  IFAPIRET

(B) 3rsfatdr

(C) 3mfpese

(D) TSTeiferaT

22. oRer A9sT F UgE A FT ATH qa@€
et gRamon & Feaes Al o e &
g & ¥ TeRTw am # aivom # §0
(A) @S, gread forer

(B) sSfig foram

(€) foaeh e

(D) weeR forem

23. AIRIH TEHAT 36 § $AX 2022 fFd
AT AT 872

(A) €€ AqTEIEH

(B) FhTS T3

(C) #How AT

(D) deifea I

24. TaIfACT ASAAT (ATH HTEEGT ST TI8T0T
3R 7w &t F gula vl afa
A=) & faw 24 3rder, 2022 Fr fhder a¥
R & IF E



(A) 5a¥
(B) 3a¥
() 2a¥
(D) 1a¥

25. ¥Rd & g GfAfd & 3regeT & T H
mgmw%?
(A) HTHAT WIefeT

(B) .. sregedTERel
(C) FHeaATary FaIA

(D) I\ TAE

26. Select the most appropriate antonym of the
given word.
MEAGRE
(A)  Minor
(B)  Plentiful
(C)  Scarce
(D) Common

27. Select the most appropriate word to fill
in the blank.

If the test booklet seal is broken or ___ with, bring it
immediately to the notice of the invigilator.

(A) Opened
(B) Adjusted
(C) Closed

(D) Tampered

28. Select the most appropriate meaning of
the given idiom.

To be ready and eager to listen
(A) To be ready and eager to listen
(B) To have extra-large ears
(C) To be inquisitive and curious

(D) To be impatient about something

29. In the given sentence, identify the
segment which contains a grammatical error.

As soon as the bus driver was seeing the child
crossing the road, he applied the brakes.

(A) He applied the brakes

(B) Assoon as the driver
(C) Crossing the road

(D) Was seeing the child

30. Select the option that can be used as a
one-word substitute for the given group of
words.

A strong interest in something or someone

(A) Apathy
(B) Empathy
(C) Fixation

(D) Attachment

31. Select the most appropriate option to
substitute the underlined segment in the given
sentence. If there is no need to substitute it, select
‘No substitution required’

What are the options available of me for a change of
carrer?

(A) No substitution required
(B) Potions available from me
(C) Options available to me

(D) Options available over me

32. Select the most appropriate synonym of
the given word.

PROBE
(A) Explain
(B) Investigate
(C) Reply

(D) Ignore

33. Select the INCORRECTLY spelt word.
(A) Violence
(B) Existence
(C) Definetely
(D) Mischievous

Nehru was a great patriot. He said, “I have received

so (34) love and affection from the Indian
people(35) nothing that | can do can
repay(36) a small fraction of it, and indeed
there (37) be no repayment of the great

affection my fellow countrymen have



showered on (38) .

(A) Little
(B) Much
(C) Many
(D) More
35. (A) This
(B) These
(C) Either
(D) That

36. (A) Either

(B) Even
(C) Only
(D) Mainly
37. (A) Can
(B) May
(C) Should
(D) Ought

38. (A) Myself
(B) Me
(c) 1

(D) Mine

39. Select the most appropriate
antonym of the given word.

PROLONG
(A) prevent
(B) allow

(C) increase
(D) shorten

40. Select the most appropriate option to fill
in the blank.
It is said that civilised man has
wild animals.
(A) staggered
(B) tamed
(C) amazed
(D) stunned

about twenty

41. Select the most appropriate meaning
of the given idiom.
get out of hand
(A) get upset
(B) give up something
(C) get out of control
(D) to complete a task

42. The following sentence has been divided

into parts. One of them contains an error.
Select the part that contains the error from
the given options.

The sea has become / an cheap dumping ground /

for all kinds / of waste products.
(A) The sea has become
(B) for all kinds
(C) an cheap dumping ground
(D) of waste products

43. Select the word which means the
same as the group of words given.

A person without a settled home or
regular work who wanders from place to
place and lives by begging.

(A)  vagrant
(B)  truant

(C) itinerant
(D) migrant

44, Select the most appropriate option to
substitute the underlined segment in the
given sentence. If no substitution is required,
select ‘No substitution’.

The news are true.
(A) No substitution
(B) istrue
(C) are being true
(D) is being true

45, Select the most appropriate synonym of
the given word.
Breakthrough

(A) Discovery
(B) Coincidence
(C) Accident

(D) Disaster

46. Select the INCORRECTLY spelt word.
(A) Sentimentally



(B) Subseqently
(C) Substantially
(D) Solicitation

47. Select the most appropriate option to fill
in the blank.
My neighbour was admitted to the hospital when he
developed an allergic to some medicine he
took
(A)  retort
(B) result
(C) rejoinder
(D) reaction

48. | want you to clearly understand that
matters.

(A) you clearly to understand
(B) you to understand clearly
(C) toclearly understand you
(D) noimprovement

49. Identify the segment which contains
the grammatical error.
Lack of formal education did not

prevent Lincoln to become a great leader.

(A) A great leader

(8) Did not prevent

(C) To become

(D)  Lack of

50. Select the most appropriate meaning
of the given idiom.
Lead someone by the nose
(A) to quarrel with someone
(B) to force someone to take the blame
(C) to do the right thing
(D) to dominate someone

51. SS9 993" &7 o049 &N, I 94 I & 919 dde
BT gdfcad < 4 frofid &rar 2 |

g, HaRll, ™

(A)

@O

(B)

(C)

Q0

52. U& FETA & A @ v aiis &
FHTER AT AR FeT AT § I8 ForeT @
T Far @m?

(D)

(A)

(B)



(D)

53. & 7T Fy«t AR Aswsf @ e F 9 |
¥E AD §C A FyAl 7 § 7§ FoH R R,
Y Y ag ATHGR W TIRT azat & Bee
fEgeha wwvirdfNalaar/a@
fashd ThEId T F T FYAL FT IHTEOT
AT / S &
hYol:
1-55 T67 9 ¥ |
2-m3ft ga7 aAfeAr ¥ |
3-8l 99 gaT ¥ |
frsay:
15T oY Al 8
n-wsft sifeat qep B
w3l ARAT T 3
V-3t o 8T &
(A)  Faer fsdd | 3R 11 3eTETOT FIAT
T
(B) ael fsey | 3reTEROT FIAT §
(C) ¥ae faswd Il 3R 1| 3regaor
T &
(D) Faer frsFE IV 3reTeRor Far §

54, & 1§ Fgaenst F afew v e v
7oAl & 3a¥ QST :
&H TOET UF @ Wi & erer Al A @ @ )
qfiemr, T v #7dat, St § wEd, A, e, 7S
I H A ar 11 71 16 fFelt v e @Yl &
W a@ # RAE e & qdiar gt § e 7w a¥
# #$ 3 adew 7€ ah

M@ qga af @ & qhew gt § M 3k S
& dg A% ) qfane <t § S ¥ uger el
ew A & A rQ F a1g, Q IV F
A% & qfee Y § V, Q ¥ 9 R vw R
AN EN, VEISF g g N33R R & fiw
% T gdane gt @ N 3k R & g Rk e
WU g N T T, PA v qgar @I 8 Z Y &
ac et v Rt &t #

al 1§ sgaET § YR W, 5l e, AT g
# @ IR v F 7 AR 0F A T4 § q€ FieT @
F § St gAHg # gt AT ?
(A) Y
| P
€ R
D) Q

55. ,d LkbfDyx ifr;kfxrk e ikp Nk=k u fgL Bk
foram | <fed, wifallr @ wgat yfdu xitu di ckn e vk;KA
afve gfia 9 vea dfea wifaln @ s A4 ® M)
ifr;kfxrk fdlu thrh?

(A) jkeV.
(B) xttu
(c) =ifalr
(D)  vfuy

56. = yza @) v gEen 4 W s od B |
3,6,24,30,63,72,72,7,7?,6195, 210

(A) 117] 123

(B) 120] 132

(C) 123] 135

(D) 135] 144

57. f@rafaf@a aerl 1 9 F readT
T A T 17 weat & 3av e

P,Q,R, ST 3RKMwF &Fa & o8 R g
FaTl |-V dF 9AF & tH-us fagamdf ggar @
e, Fro, e, fer Jart R R T HF ¥ vAT
T TH THGET TT § IR g1 & gl %A ¢

QR BT P WG g agFamIVITV A
T gaar & el IV & g arer &Y &0 T 9
T & P FaT Il & 9gar & M &Y e 301 q¥g A8t
¢ 3 ag ®am IV & € gear § 5 e T
UHE § 96 F&T VI # g1 § S F e qwE §
3R 98 Fam | & vgar § R @ew VI F 7t gear
gR F FieT AT W1 wwE &

(A) hlell

(B) drerm

(C) &

(D) e

(E) 1o & 1§ oTet



58. fAwAfaf@d esal #r v arfds 3R

Idqel HA F cyafeyd w¥
1-Rightly  2- Rigidly 3- Righteous 4- Rigour
5- Rights

(A)  3,1,524
(B) 3,1,5,4,2
(©) 3,51,4,2
(D) 1,3,5,2,4

59. fa= g H fev g faweul # 4 yedaras fag (U
d LFkku §j vkur okyh B[ ;k Kkr dhft,A

(A) 98
(B) 80
(C) 89
(D) 18

60. Find out the two signs to be interchanged
to make the following equation correct.

20 +osx3.16 ¥ = —50
(A) x and
(B) + and -
(C) - andx
(D) - and N
61. a n b
ncb ncb
(A) bcabab
(B)  bacbab
(C) abcbcb
(D)  abbbcc
62. fn, x, fodYiksa esa Is og vkdfr

pgusa tks fuEufyf[kr J a[kyk esa iz"ufpgu
(?) ds LFkku ij vk Idrh gSA

Y ¥ 3 2 3
& A I 8‘ £

L
, b
Y
(C) ¥
s
3

63. Which  of the following answer will
complete the given figure?

Oueslioqs Figure:
1 ™

(A)
N ]
:—i‘\\ ,"
— .\A_’/
N
(B) =
A
///‘
(C) -
F}_\lf )
\T:vt:‘v
(D) =

64. Uscl A AschIY HT0;0LFK F HTAR



CCIE=Ir]
ST 3R 3R [Aepeq & giaw

1- Zephyr 2- Zodiac  3- Zoonomy
4- Zenith 5- Zig Zag

(A) 2I4I3I5I1

(B) 412I11315

(C) 411I51213
(D) 51312I4I1

65. U fafad FT sTT #, 458693 F
367784 ¥ T A Fc T fFAT AT T o3
AT 742351 F FA Fe HT FFAT SImeen

?

(A) 863442

(B) 655442

(C) 651442
(D) 651462

66. 3t RELICS @1 120 & %4 # 3ik BASTION &1
146 & w9 # Fedg fHar A T,
ar DISTANT &1 fo| w9 4 deds fHar Smym?
(A) 160
(B) 88
(€) 182
(D) 170

67. MekxkQj* €1 *turk: I FecfU/kr g ol gh
HQykviyLV* fd I L BEcfl/kr g\
(A)  QKkfEYI
(B) fvdv
(C)  QkVkxkQn
(D) Ixtr

68. AR IER-wHg fow v B, et & e
et & frelt g W € 3R v e ©
3 WA HER-THE $T 9qA Y

(A)  MNR
(B) N

(C) ABF
(D) FGL

69. ¥R s RRw v §, BeH ¥ e _dfr &1
freY &7 R avE @A § 3R v A § 3w
AT Aeq FT TIT HL

(A) rar

9

(B) Ihd

c

(C) e

(D) 3IAIARA

70. 39 AFeq FT T4 F Swd et &
dfr a@ waw § S & ¢ wEwnst F gH F
diT

(73, 78, 93)
(A) (67, 72, 82)
(B) (29, 34, 39)
(C) (145, 150, 165)
(D) (23, 33, 38)

/1. fdl eghu dh 3 rkjh[k exyokj g] rk ml
eghu dh 29 rkjh[k dh dku&lk fnu gkxh \
(A)  “kfuokj
(B) jfookj
(C) cikokj
(D) None.

72. ,d QkVk dh vkj b kgk djr g, jfidk u
dgk] *og ej nknk d: , dek= 1= dk 1krk gA* QkVk oky: yMd
dk jfidk B D;k BEcU/k g\

(A) =

(B) Hkrtck

(C) Hkkb!

(D) fulikfjr ugh fd;k €k Idrk g
(E) None.

73.  bPNk dk vfuPNk I ogh BEcU/k g] tk BUrf'V dk
----------- I gA

(A)  fujkkk
(B8) vlUrf'V
(C) rflr

(D) VANlurk

74. Igh fodYi dk pfu,A
0-16 % 0-0016 & & 1-02 % \
(A) 10-20
(B) 1-020
(C) 0-102
(D) 0-0102

75. TG T FHAR AT TAF W 196
8 Uk 3 3Hfhd § Ig °eT mhfagr 1,111l
3R IV # IR e et # e amr
3



1- Ig Ad i & fov & 6 § 3ifha wers &
faudicr et @ were 8, 3mpiaat 1 3R I

aed §

2- ¥g 31 oA & ToIv &6 4 & 3ifhd Beldh &
ool ler & Bere 8, 3mehfaar 1l 3 Il

TaTeT §

3- Igg Id WA & v & 3 @ 3ifa v &
faudieT it & B 8, 3mhfaar | 3R IV

aed §

3WFd FUAT H T i T AT el g7

(A)
(B)
(€)
(D)

1 dar 3
1 qar 2
2 dur 3
1,2 dar 3

76. fau Ty ur$ A @1 atemd W iR A fau U g

BT IR < |

s are 2019 # ¥ wul & U= faari A, B, C, D 3iR
E & SHaniRal @ @l W1 &l e

(break-up) <wrfar 2|

FHHARAT B T de&r = 4500
gfe B fawrr & 30% wHarRar &f D fawrr #

YeriaRd fear sirar 8, ar C 8k D furr & wd=arRal &

& & 49 3R X 8, S ———— % g B |
(A) 168 =ik 172
(B) 164 3ir 168
(C) 176 ik 180

(D)

172 iR 176

77

ek

| 45
40
35
30
25
20
15
10

uhpi fn;i x, ykbu&xkQ dk /;kutod v/; ;u dj
aen feit @ weuk dk Bko/kuhiod mrj nA fofiklu "kgjk I
thp iji{kk e Iftefyr gku oky: Nk=k dh B[ ;k 4D ;k gtkj

"kgj D I tkp 1jh{kk ei Bfeefyr g, Nk=k dh D[ ;k "kgj C
L ijnh{kk e Iftefyr g, Nk=k dh dy B[;k dk vuekurt

78

EIREG]

, C

I I I 0.70 0.75 I
YI Y2 Y3 Y4 Y5 Y6 Y7

79.

(D)

(A)
(B)
(€)
(D)

2l

243
413
134
341

The bar chart given below shows the ratio
of expenditure to revenue for seven consecutive
years Y1, Y2, Y3, Y4,Y5 Y6 andY,

0.96

A

In which year is the profit highest?

(A)
(B)
(€)
(D)

Y5
Y6
Cannot be determined
Y2

fey Y Ser @ Igerd T 22

3,0,1,0,21,201,21,11,3,2

(A)

(B)

(€)
0

1
2
3



80. Ift ve Twg«ig 9o & MR @I FZrar 4 m siR
Jo BT g% ST &he 19.5 m? R, dr e s (m° #)
e 8rTT?

(A) 65
(B) 36
() 39
(D) 42

81. A 3T 3dT g&T ¢ Toiaet & B 3k C,
el eI ATy AT FH FTd gT A 3R B
fret F19F F 36 =t F qu T § 3 C wF
3T FF FY 60 AT F FT THaT ] A 3R C g=ir
et 10 il aF F17 = & B A &1 F¥
Ira fraer e & qu Fam?

(A) 88

(B) 110

(C) 84
(D) 90

1

82. aﬁaﬁs‘wﬁaSz km/h & gsira 12 km/h &% =met
| Fedr g, @ 98 14 Km 31 @ei T | S gaRT 9g &Y TS
rEfdd g 91 BN |

(A) 32km

(B) 36 km
(C) 34 km
(D) 30km

HAAU Y AT FIA GAT SIS S5 AT ©
afE a8 20% 9fY a¥ # &7 F suIer A W §,
ar sarer @ werEt X fherelt gl 87

(A) 20.5%
B) 21%
(C) 20%
(D) 19.5%

85. 3gfxab=5:7¢% a (5a - 3b) : (4a
- 2b) WX §:

(A) 5:4
B) 2:3
() 3:2
(D) 4:3

86. g (a+b-c):(b+c-a):(a+c-b)=4:5:
9%, @ a:b:c FT AT FAT EAM?

(A) 14 :13:9
B) 14 :9:13
(C) 13:14:9
(D) 13:9: 14

87. Rs.405 % 3 o9 G daax B ARy &1 25%
P B B 2 | A g8 i # 20% &1 o™ T BT @edr
2, dr 99 Rs. 288 # fhaq WaN 99+ =Ry ?

18

(A)2

2 4 1 18 4 ) 2 1 8
(G- g)x e (Greorzg)+3; T5X5 12

BT A T BN |
2

(A) 325

1

B) 3°
L

© 225

2

(D) 4°

84. U fAdcIar IURUT sUTST WX HORIY &aF

T SMaT FIAT &, AfdheT TAF &g A W

15

(C)

16

(D)

88. Iy XaRY Ua @rell < Bl t el # R e © | Afe
qrsu X afdbel <o I ¥R @ forg t 3 6 e aife erar € 3R Y afavel
¢ B W & forg t 9 54 e o o &, a1 X ok Y fidew
<P Bl foeri o) H w2

(A) 24 3%s
(B) 12 d®s
(C) 18 wws
(D) 27 d=@e



89. R I 3T F 75% @I T ¢
e 3gehT 3T 20% 96 Sar § 3R s9d 1% =<
STl &, dr 38 =78 # fohdel gfaerd T gefer
grar 87

A) 2.7

(B) 27

€) 2.2

(D) 22

90. X 3R Y, 3:5 F qurd H Gl & Ay
ARG FIA 8] 5 A a1G, X 9=l et 7
50% SiisdT 3, S1afF Y el el #T 60%
fATerdr 8] ¥6.84 A ¥ i o F X FT
feear (7 @ #H) AT fav|

(A) 3.6
(B) 3.72
© 4.2

(D) 3.12

1 3 1

91. 11760 & 3 & 8 &1 5 AT Y|

(A)
(B)
(€)
(D)

92.

(A)
(B)
(€)
(D)

93.

467
598
645
294

I8 BT I B AT 910 BN, o1 5, 6 3R 8 I
T o1 R ye Rafd & 3 Ivwa urd

792
243
117
123

B GHMER, DI B I Bl BIEIHUl B oy

Rs.1.50 <far 2 3R 400 @fe & a1e |+ ®reraidl iR 5.5% @1
e ol & | PITST BT 800 e BT BICIDIG UR fobe=1 @ ATg?

(A)
(B)
(€)

(D)

Rs.1,167
Rs.1,160
Rs.1,176
Rs.1,276

94. frdl faflred Ufr W 21% & 2 axf &

o Twraef sarer 19,282 § F4 &X @ 3K 3=t
& AT ¥ AT sHHT FTURYT sIq1=T (T H) &

(A) 8750
(B) 8400
(C) 8000
(D) 8500

95. &% BTl of TH Y1t &)| 3 IRFT H v

T8 o, Swa 48 ol & st A weniaa
3 39 3itaa 3w 78 ¥ T 66 & AT AW
ot & sited, # 3.5 3 # gaf g8 TER
mﬁmsﬁ%aﬁaaﬁ4.53ia:a?rm§é|

q{laTT ¥ A g arel TET A TEAT FAT &7

(A) 84
(B) 93
(c) 100
(D) 96

96. 9T WeHdl F TF URaAR A dwa g

10

a¥ qd 38 af | 39, & AT WeET 3 ¢,

fSeThY 37 FT I 8 a¥ 2| 3R IRAR A AT
3wa I3y el & e 10 af ggar &), @
AT gEEAT A { B WerT dr 1Y (Fut A) F4

2?2

(A) 10
(B) 9

(C) 15
(D) 17

97. Astudent designs a circle, square and

98.

G2l

rectangle in such a manner, that the radius of the
circle is equal to the side of the square, and the
length of the rectangle is 40% of the radius of the

circle. Let the breadth of rectangle be 20 m and

2
the area of the square be 4900 . What is the

perimeter of the rectangle?

(A) 110
() 100
(C) 40
(D) 96

ATs g Bar 12% & o R saar 2| Bgw C
9% @t B W J=ar 7| afe C g9a forg Rs.15,288 &1

I BT &, AT A TaRT 39 ax] 31 169 790 (RS. H) R 921
Tar?

(A) 14,250



(B) 16,800
(C) 15,000
(D) 16,000

99, GEd Bl BIgHR, Uh a9 &I a1l 60 km/h 2, 3iR
oeNrg afed 99 &) = 51 km/h 2 | 99 ufy 8 foa fire &

fore Taddt 272
(A) 10
(B) 8
c 9
(D) 12

100.

5 -[96+40f3— (16— 55+ 5)]

FT AT AT PTAY|

(A) 4
B) 2
c 3
(D) 0
Answers:

1.D (2)B (3)B (4)D

c (7B (8)A (99D (10)A

C (12)b (13)D (14)D

(16)B (17)D (18)B (19)D

B (21)B (22)A (23)C

(25)B (26)B (27)D (28)A

D (30)C (31)C (32)B

(34)B (35)D (36)B (37)A

B (39)d (40)B (41)C

(43)A (44)B (45)B (46)8B

D (48)D (49)c (50)D

(52)D (53)B (54)A (55)B

B (57)E (58)A (59)B

(61)A (62)d (63)D (64)A

C (66)A (67)B (68)D

(70)C (71)B (72)D (73)B

D (75D (76)D (77)C

(79)A (80)C (81)B (82)C
(84)b (85)B (86)d (87)D

C (89)b (90)c (91)d

(93)A (94)B (95)b (96)b

(98)B (99)C (100) b



